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1.EIHEF =A

for i in range(8):
a=1

for n in range(1l,a):

print(n,end="")

print{("\n’,end=""))|
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sum=0
for i in range(1,1001):

1 i%7==0:
if i%21==0:
continue

sum=sum+i
print(sum)
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[For i in range(1,19):
for a in range(1,19):
print(i, "*',a, '=",i*a)
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for i in range(1,1001):

sum=0
for j in range(1,i):
if 1%j==0:
sum+=7j
if sum==1i:
print(i)
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for i in range(5):
(" "¥(5-i)+"*"*(i+l))

print
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for i in range(1,5):
for j in range(i,1,-1):
print( '@ ,end="")
for k in range(1l):
for r in range(1l):
print('1',end="")
for z in range(-4,-1i):
print('@',end="")
print()
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import random
a=o
while True:
n=random.randint(1,6)
print(n)
if n==1:
a+=1
if a==3:
break
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B
A=[0]*10

max=0
import random
for i in range(10):
A[i]=random.randint(©,100)
print(A[i])
for i in range(10):
if max<A[i]:
max=A[1]
print( ' s A/E4E" ,max)
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N

A=[@]*40

min=60

sum=90

import random

for 1 in range(40):
A[i]=random.randint(0,100)
print(A[i])

for i in range(40):
if min>A[i]:

sum=sum+1

print( " -AREAE’, sum)
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import random

1=[[@]*3 for i in range(10)]

for i in range(10):

a=0

print(" 2", "{:>2}".format(i+1)

for j in range(3):

1[i][j]=random.randint(©,100)

print("{:<3}".format(1[i][j]),end=" ")

if 1[i][3]!=1[1][2]:

a+=1[i][j]*@.3

else:

print(”
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b=1[i][j]*e.4
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fir FlE2Hp s B 71
fir E AR 5
fir ElE2 ks B 95
fir FlE2H R4 B 99
fir EE2H L B 50
fir ElE2a ks B 19

24
59
25
22
91
93
60
26
88

", "{:g}".format(a+b))

" T A" end=" ")
56 - Z2EpEEE 30.8
62 - B 42.2
43 EHERE 49

73 EHiE R 63.7
75 EnaE s 57.9
15 SENEE 34.8
97 B aE R 95.2
69 - B 75.3
>7 2R E B 45.6
81 e 64.5
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h=int (input( ' &85 An?"))

sum = 1

for i in range(1l, n + 1):
sum *= 1

print(sum)
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def add(a,b):
while b:
r=a%b
a=b
b=r
return a
a=int(input('ZFom A —/EEEA"))
b=int(input('FFyA —/EEEZB"))
print( "AZBF g A LNAE 5" ,add(a,b))
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x=input( 'Fimw A — B 77579 )
y=1list(x)
z=y[1]
n = int(y[1])
if n==1 or n==2:
if n==1:
print (" /g% )
else:
print( " #EXE")
else:
print( 'ZFiy A iEiEEAA")
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x=float(input(";58 A —/FZF"))
1t x%3==0:

print(int(x), "E347/FE")
else:

printf{int(x), ' 7E349/%% )|
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x=float(input ( ;507 A —/EHEF"))
y=float(input( ';Z A —/EHZF"))
z=float(input( 'ZFy A —/FEF"))
print(int(max(X, y, z)))
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def add(a):
sum=@

H 1+2+3....

for i in range(l,a+l):

sum=sum+i
print(sum)
a=int(input( ' Zd AnE
add(a)
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2P =set ([ "John ", 'Mary ', 'Tina’, ‘Fiona', 'Claire’, 'Eva’, 'Ben', 'Bill ", 'Bert'])
YL Fifg=set([ "John ', 'Mary ', 'Fiona', 'Claire’, '‘Ben', 'Bill '])

BB R fE=set([ ‘Mary ', 'Fiona"', 'Claire’, "Eva’, 'Ben"])

print( " HECHEEEIRTE" Tl RAERBIE R )

print(’EEARSE" , R4 - B FRAE)

print{ ' W R 1 HET RS , X RAER(EIRE - BB RIE))

infantR SN

S B2 g {"Fiona', 'Ben', 'Mary’,
'Claire’}

BIEARE {'Tina', 'Bert', 'Bill', 'John'}
F R HEESEA A& {'Bill", 'John'}
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B=set ("SI ELFH - FHFHEIE ? TSR - HVREE - )
a=set (' FlFEHE  BIEEIFE - RFETE * 1EEHZEL ")

s.remove(' 5 ")

s.remove( ' 7 ")
s.remove( ' ¢ ")
a.remove( '+ ")
a.remove( ' ° ")

print(s & a)
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mail=dict()

name=input( ';Zig A 5?2 ")
mail[name]=input( 'Zdi A EFE1F?")
name=input( ';ZFig A 5?2 ")
mail[name]=input( 'FZdy A EFFE/F?")
name=input( ‘ZZFig A LE5? ")
mail[name]=input( '#dy A EFF/F?")
name=input( '35y A Z & 798 FE ")

print(mail[name])
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a=float(input( ' ;Zoy A FF-F=%="))/100
c=int(1.025)
d=1
for i in range(2,11): #i
b=int(1*(1+a)**1)*i
while c<b:
d+=1
c=int(1*(1l+a)**d)
print( " AFFE" ,1, &5 ,d, 'BE")
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aA i A F] 2R %=2
AFME 2 &7 36 4
AFFIE 3 &% 56
AFFIE 4 &F 71
AFME 5 &7 82
AFRIE 6 &7 91
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X=0

T 3

num=int (input( ':Z87 A —

HE1~9="))

for i in range(9,9-num,-1):

X+=1

print(i,ends=
print()

for i in range(11-num,10):

x-=1

for j in range(9-x+1):

print(i,end="

print( " )

$HU Lil[ \\‘:DEEE([&D ‘I:A ‘l’

srm A — IE#81~9=8
999999999
88888888
7777777
666666
55555
4444

333

22

333

4444
55555
666666
7777777
88888888
999999999

")

o

for j in range(9-x+1):#§%5Hl
)



P

22 [ AF

IS
i

1X

—

HFEATHY L F R

-

(EZ5)

txt=open(input( ' FZ# A &5 "), 'r').read()
b=1ist( 'ABCDEFGHIJKLMNOPQRSTUVWXYZ ")
s=1list( 'abcdefghijklmnopqrstuvwxyz ")

for i in range(len(s)):

print(f ' {b[i]} or {s[i]} : {txt.count(b[i])+txt.count(s[i])}")
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